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Henfera udtan - 11, 2012
MATHEMATICS / Tifota
Class - IX /et - IX

Time allowed : 3 hours Maximum Marks : 90

fFrerifia wme : 3 U Stfireraw 37k : 90

General Instructions :

(@)
(ii)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 8 questions of 1 mark each, Section-B comprises of 6 questions of
2 marks each, Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 10 questions of 4 marks each.

Question numbers 1 to 8 in Section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in
1 question of two marks, 3 questions of three marks each and 2 questions of four marks
each. You have to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

T e :

(i)

(i)

(iv)

|4 e vt ¥

=9 w5 99 1 34 7T £, R ww @t o, @, § a9 g § wie T ) wee-ar § 8y € o
T 1 3 F T, WUS-T § 6 WA & Tl ek % 2 3fe € @wue-w F 10 v § o welw &
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Question numbers 1 to 8 carry one mark each. For each questions, four alternative
choices have been provided of which only one is correct. You have to select the correct
choice.

WY TEAT 1 & 8 7 Ue U 1 37k 1| Wl Uy % Wi fehed R Ay Rm A duwm
wE ¥ 3 Y ferhed IR

How many linear equations in x and y can be satisfied by x = 1and y= 2?

(A)  Only One (B) Two

(C)  Infinitely many (D)  Three

x 3Ry = # fore Y gl x=1 iRy =2 A FE A TR :
(A) FAOTH ®

© = ® 3

In the ﬁgurg If AB||DC and HF||AB, then which of the following is true ?

D C
Hi F
A E B

(A) ar(GHF)=(DHFC) (B) 3ar(GHF)=2ar (DHFC)
(C) ar (GHF)=(HEF) (D)  None of these
Ife AB||DC 3R HE||AB &, T Fretfefaa # i  forsed 3t @ :

D G ¢
F
A E B
(A) ar (GHF)= ar (DHFC) ()  3ar (GHF)=2ar(DHFC)
(C) ar(GHF)= ar (HEF) (D) IHE H | HE T

In the given fig O is centre of circle, ZACO = 35" and ZABO = 45, then ZBOC is
A

<
A)  80° (B)  160° © 9w oy
SR H O 90 1 F% ¥ A LACO =35° 8, 741 LABO=45" &, T ZBOC 1 7 &M :

B
(
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The graph of y = 6isaline:

(A)  parallel to x - axis at a distance 6 units from the origin
(B)  parallel to y - axis at a distance 6 units from the origin.
(C)  passing through the point (6,0)

(D)  passing through the origin.

Tk Gy =6 T SO T @I & S ¢

(A)  x-oE % WA & 3T 7w forg @ 6 §E R
®) W farg @ 6 $TE Wy~ F WAR |
© g (6,0) @ ToRet 1

(D) e fig @ TeRet 1

The class mark of the class 130 - 150 is :

(a) 130 (B 135 © 140 (D) 15
a1 130 - 150 %1 & farg &

(A) 130 (B 135 (© 140 (D) 145

In a cylinder, radius is doubled and height is halved, curved surface area will be :
(A)  halved (B) doubled (C) same (D)  four times
ST ) P QA Y ST el S 1 e Y e S, A ST 9 I ahAe &

S
(a) e ®) 3T © =@wm (D) TR

If A&B are the only two outcomes of an event and P(A) = 0.32 then value of P(B) would
be :-

(A) 038 (B) 068 © 078 D) 032
Ife foet e % A iRB A € R ¥ 3R P(A) = 0.32 & T P(B) T AH AT 2
A) 038 (B) 068 © o078 (D) 032

Volume of right circular cone of radius 6cm and height 7cm is
(A)  1892cm’ (B)  66cm’ (©)  264cm’ (D) 132w’
T 6 AT P e 7 At Sremé Al o At Piey ot ST BT ¢

(A) 18%2%H*  (B) 66 W’ (©) 264 W° (D) 132

SECTION-B / @Us-&

Question numbers 9 to 14 carry two marks each.
T HEET 9 | 14 Tk Weikeh Y 2 3Rt € |
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14.

ABCD is parallelogram, AELDC and CFLAD
If AB=16cm, AE=8cm, CF=10cm, find AD.
E D c

A
ABCD T GH=R wgds ¥, fd AELDC o1 CFLAD 81 afd AB=16 §#l, AE=8%,

CF=10 9%t &, & AD %1 71 T4 FHIfIq |

E
........ D @]

A B

A solid shot—putt is a metallic sphere of radius 4.9cm. Find the volume of the shot
— putt.

Tk Uk del T S I T T A 4.9cm 1 T BT TR T e |

The following observations have been arranged in ascending order. If the median of the
data is 63, find x

29,32, 48,50, x, x+2, 72,78, 84,95

frfafaa sitwel # wgd oH § sAafied fhan 1@ ¥ afg SRSl F AAE 63 B ol 1 F AR

T I
29,32, 48, 50, x, x+2, 72,78, 84, 95

Out of the past 250 consecutive days, its weather forecasts were correct 175 times.
(i) What is the probability that on a given day it was correct ?
(i) What is the probability that it was not correct on a given day ?

e faum & fhré & Star emar fasa 250 famli & @ 175 fedi &1 Aiem =1 erqae el @1
() ot u el T f vl % STgAM & S O w1 wifrdn e A 2
@iy et e e T fe e w1 S W T AR 7 i @ et 2

Prove that if chords of congruent circles subtend equal angles at their centres, then the
chords are equal.

firg FIfsTu fo T el o Sfae afg g & S T GAE HI07 ST o Stand g A |
OR/3terar
Suppose you are given a circle. Give a construction to find its centre.

I T ST9eR] U o el T ¥ 1 TR e T w6 o e i)

For a particular year, following is the distribution of age of primary school teachers in
district
Age(in years): | 15-20 |20-25 [25-30 | 30-35 [35-40 |40-45 [45-50
No of teachers : 10 30 50 50 30 6 4
Answer the following questions
(a) What is the class size ?
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(b) Which age group represents the lowest no. of teachers ?
@ﬁatmm%«mmmmaﬁ, R T HeT TH THR A

o (@ ®) : | 15-20 |20-25 [25-30 | 30-35 |35-40 |40-45 45-50
AR H
m‘.

Freffead Jei & It QST ¢

(@) @ EES FR?

(b) Y S 3 ST w1 e o R

10 30 50 50 30 6 4

SECTION-C / @Us-¥

Question numbers 15 to 24 carry three marks each.
T T 15 W 24 T W U 3 SR W E |

Give the equations of two lines passing through (2,14). How many more such lines are
there and why ?

aﬁ%@aﬁ&vﬁmﬁﬁf@uﬁﬁgaﬂ)ém%lwsﬂzﬁmﬁmam%w
i ?

The side AB of parallelogram ABCD is produced to any point P. A line through A and
parallel to CP meets CB produced at Q and then parallelogram PBQR is completed. Show
that ar (ABCD) = ér (PBQR)

D,

R
miﬁﬂﬁABCDaﬁWABaﬁﬁﬂﬁﬁﬁPﬁmW%\ o F4s PBQR 1 T
mﬁ%m@?%@@%m@ﬁfﬁ%(%ﬁm)sﬁﬁgAﬁw FAAMCB A
grd ST QW e &1 Y 6 : ar (ABCD) =ar (PBQR)
D, &

RITEER
Draw a line segment AB="5cm. From the point A draw a line segment AD =6cm making
an angle of 60°. Draw perpendicular bisector of AD.
T @ @uE AB =5 ¥t T | Afagd 60° 1 101 SR g T Y@rEvE AD =6 Wl Fel
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23.

AD %1 T gt Sife |
OR/31ar

Draw a line segment of 10 cm. Divide it into four equal parts. Write the measure of each
part.

T 10 2t 3 s = R i v FRT qe e 9w A 9

Three cubes of edge 12cm are joined together (end to end). Find the volume of the
resulting cubiod.
12 Qi TR Tt 3 SR Y TR @ STt W & | RO SIS 1 S e B 2

OR/aterat

Curved surface area of a solid cone is 308 cm” and its slant height is 14cm. Find
(i) radius of base (ii) total surface area of the cone.

T S Vi T A T et 308 A & ST swe firden S 14 A 11 @ Rl
(i) SR B (i) i B T AR

10 i
Find the mean (¥ ) of first ten prime numbers and hence show that Z(xr‘x) =0.

=1

e T ST WA hl WA (% I e e gwied i(x,—i) 0%

Find three different solutions of the equation : 4x +3y =12 from its graph.
ifiges TR 4x+ 3y = 12 % TerE | Tt ¥ d g fafag )

The height of a cone is 16cm and the base radius is 12cm. Find curved surface area and the
volume of cone (=3.14)

T WF F SHR F o 12 A qen S 16 W X1 AF G SR 1 ST I
I (r=3.14)

If the diagonals of a parallelogram are equal then show that it is a rectangle.

o TR =T 3 fael s st 9, A G f, 9% T e R
OR/aterar
Show that the diagonals of a thombus are perpendicular to each other.

<uiEd i e TR & el Teea e B ¥

In the figure ABC, is an isoceles triangle in which AB= AC, AD bisects exterior angle PAC
and CD||AB. Prove that ABCD is a parallelogram
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P

B <

24, Marks obtained by 90 student in a particular subject out of a total of 100 are given below,
find the probability that a student selected obtained marks 60 or above and a student
selected obtained less than 40.

Marksoutof | o 0 [0 30 | 30-40 |40-50 |50-60 |e0-70 | 702
100 above
No. of students & 10 10 20 20 15 8

00 fererfordl Il el fowa & Stean 31 100 A O WIHIH FTAferea & | T (e 5 60 A1
3G s aun U faenedt g1 40 W FW i WH F FY WA T HIO |

L ] 100 % ¥ WM SfF [ 0-20 |20-30 [30-40 |40-50 |50-60 |60-70 3%
ey
Terenfefaf =t
o 7 10 10 20 20 15 8

SECTION-D / @U8-§

Question numbers 25 to 34 carry four marks each.
W T 25 | 34 Welkch U 4 IR ¥

25. In the figure ABCD is a parallelogram and AP, CQ are perpendiculars drawn, from
vertices A and C on diagonal BD. Show that
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()  AAPB=ACQD i) AP=0CQ
A TH TR FgES ABCD % farsvi BD W ¥ A 3l C & AP 3iR CQ v @R T ¥

<y R
D_ c
>
,
A B
o (i)  AAPBzACQD (i) AP=CQ

OR/317ran
ABCD is a quadrilateral in which L, M, N and O are the mid points of the sides AB, BC,
CD and DA respectively as in the figure below. Show that

i

A
() ONJ|ACand ON = % AC

(i) ON=1LM
(iii) LMNOisa |jgm.
g #, T 9qs ABCD ¥, R L, M, N @91 O %a1: S[=isil AB, BC, CD 3R DA & 8eA

L o # el i
D N
ic

S

A B

A L
() ONJACTTON= % AC

(i) ON=1M
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26.  Constructa triangle ABC in which BC = 7cm, £B= 75° and AB+AC = 13cm.
T FI9S ABC 1 Tl i il BC=7 3+, £B=75" R AB+AC=13 &t 3|

27.  Draw the graph of x+y = 3 and 2x+2y=8 on the same axes. What does the graph of
these lines represent ?

T x + =3 T 20+ 2y =8 T NG T @ e R Gig | 7@ Ao = Fefi ww
22

28. A metal pipe is 77cm long. The inner diameter of a cross - section is 4cm, the outer
diameter being 4.4cm. Find the total surface area of the metal used.

T uIg el 77 A awl ¥ S S T SR A 4 W ¥ T AR 4.4 T
T el Y T H T e o 1 gl g &S 9 i |

29. In, the figure, if a line interacts two concentric circles with centre O at A,B,C and D, prove
’ that AB=CD

e
A
Tt i, TR g 5 O ¥, SR T Y@ g A, B, C 7 D R wfess wedt &1 s
| % fR AB=CD.

/"

30. Show that the line segments joining the mid points of the opposite sides of a quadrilateral
) bisect each other.

mmﬁ,@ﬁ%ﬁmwﬁtnmﬁgﬁﬁmﬁmm@@%aﬁ
wHfgi w ¥

31.  The following linear equation converts Fahrenheit temperature to celcius
9
F=|-|C+32
g
(i) If the temperature is 40°C what is the temp in Fahrenheit ?
(i)  If the temperature, is 95° F what is the temp. in celcius ?

(i)  Is there a temp which is numerically of same value in Fahrenheit and celcius ? If
yes find the temperature.

| Freferfian Yas THH BRAEEE A i 4 § uftafda s @

\ 9
=|[=|C
B [5} +32
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33.

(i)  AfE A 40°C &1 At TITRTEE H AT9HIA 4 e 2

(i)  Afe AT 95° F & At Hetire # a8 2

(i) @ R @ A ¥ e e 7H e ot e § uw i @2 ARk d
@ 9% THIH F HIC |

ABCD is a cyclic quadrilateral whose diagonals interest at E. If £DBC=70°, ZBAC=30",
find ZBCD. Further, if AB=BC, find £ECD.
ABCD T& whia wgyw & s faeof fag E w ufds & &1 afk «DBC=70",

ZBAC=30" 8§ /BCD I FIf¢ | afg AB=BC &, T LECD &1 A1 91 FHIfog |

A godown measures 45mx25mXx10m. If 8000 wooden crates each measuring
1.5m x1.25m X 0.5m are stored in the godown. Find how many more such crates can be
stored in the godown.

T TG T A9 45 . x 25 W, x 10 . ¥1 39 iem F @t & 8000 few vy forw # v
F AT 1.5 7. x 1.25 M. x 0.5 7. 81 FARY T IR foF iR fead iem & W@ w1 wHA § 1
OR/3rerar

A hemispherical tank is made of iron sheet 1cm thick. If the inner radius is 1m then find
the volume of the iron used to make the tank.

T SGTTRR 2t 1 Aol Ao Y e o =t @ s & 9fg et Y sttt w1 L A
TN H UG AR T ST M HHg |

A random survey of number of children of various age groups playing in a park was
found as follows :
Age (in years) | Number of children

1-2 5
2-3 3
3-5 6
5-7 12
7-10 g
10-15 10
15-17 4

Draw the histogram of above data.

o T H Qe g fafvm oy ot & a= woagfed vl we woamE

EEEEkd S W HE
1-2 5
23 3
3-5 6
5-7 12
7-10 9
10 - 15 10
15-17 4

SR SR 1 A o T |

-000-
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